TRIPURA CHEMICAL SOCIETY
Chemistry Aptitude Test —2022-23
Stage — I (For Class IX)

Total Marks : 50 Time allowed : 1 hr. 30 min.

Instructions : Answer all the questions. There are 30 MCQ (1-30) in Group-A
having 1 mark each. Each MCQ has been provided with four options (a), (b),
(c) and (d). Shade the correct option with BALL POINT PEN in the appropriate
box in the answer-script. Multiple shading is liable to cancel the relevant answer.
*0.25 mark will be deducted for each wrong answer. Group B contains 10
questions (31-40) having 2 marks each. Answer these questions in the space
provided in answer script.

Group-A
Multiple choice questions :- L 1x30=30
1. The formula of a metal chloride is MCl The formula of its
phosphate is —
(@ M,PO, (b) M;PO, (c) M(PO,), (d) MPO,
RS AP 41T FRIZTE 7HeF® MCL,. 41gfa 4o FRhe AT
m_
(@ MPO, (b)) MPO, () M(PO), (d) MPO,
2. The latent heat of fusion of ice is
(a) 33.4x10°J/Kg (b) 22.5x10°J/Kg
(c) 334x10*J/Kg (d) 2.25x10* J/Kg
JACT AT AT 2T -
(@) 334x10°JKg (b) 22.5x10°J/Kg
(c) 33.4x10*JKg (d) 2.25x10*J/Kg
3. The correct order of the size of C, N, P and § is —
(@) N<C<P<S (b) C<N<P<S
(c) N<C<S<P (d) C<N<S<P
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(@) N<C<P<S (b) C<N<P<S . @ T cnrew S et 2
(c) N<C<S<P (d) C<N<S<P @) ?;X (b) ?éX @) 1165X @) 1156X
- 4. The correct order of acidic strength of the following oxidesis— “ 7. The sub-atomic particle called electron was discovered by—
(a) SO,>P,0,>8i0,>AlL0, : .  (a) 1.J. Thomson (b) Neils Bohr
(b) P,0, >80, > Si0,>AlL0, o - (c) James Chedwick (d) E. Goldstein
~ (¢) P,0,>ALO,>S0,> Si0, R mewﬁwamm
(d ALO,>Si0,>P,0,> S0, | ’ - @ @E@w (b)) Ferar
- Aoz TS (Mol SR How wab = - a (c) CEHFIOTRT - (d) % cireHRR
(a) SO,>P,0,>Si0, > ALO, LaTE _ 8. The number of valence electrons in sulphide ion 8% is —
(b) P,0,> SO, > Si0, > ALO, | PSR (2) 16 (b) 10 © 9 @) 8
(c) P,0,>ALO, > SO, > Si0, . B ot FEPIRE AR (ST (REF LR ﬁ(ﬂiﬁ -
(d) ALO, > Si0, > P,0, > SO, @i _ GR © 9 @3
5. Which of the following has maximum no. of atoms ? 9. The particle not present in an ordinary hydrogen atom is -
: . o - ; E s - (a) Proton ~  (b) Neutron (c) Nucleus (d) Electron
(@) 18gofH,0 - = () 18gofO, . oy afengTe SRS 3 SRR P s i T -
(C) 18 g OfCO2 ' (d) 18 g OfCH4 ‘ : , (a) AR (b) ﬁm (C) ﬁ%@mﬁ (d) w
o oAe R R R R 10. What is the chemical formula of quick lime ?
(a) 18 gof H,O - (b) 18¢g of Q2 T (a) CaCO, (b) Ca(OH), (c) CaO (d) CaCl,
(c) 18gofCO, ~ - {d) 18gofCH, - - . 33 AR AT ST 2 - o
- 6. The number of electrons-in the afom of an element X is 15, = « (a) CaCO; (b) Ca(OH), (c) CaO (d) CaCl,
- and the number of neutrons is 16. Which of the followmg is - 11. Which one of the following does not show Tyndall effect.
" the correct representatxon of an atom of this element ? ‘) This one is — |
155, a) Soap solution b) Ink
,, (a) 15 5, ® 1‘5X % (c) 15 (d)%} 16X - i 8T Ec; Sung solution Ed; Starch solution.
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(a) AR &1 (b) w3
(c) Bfmww (d) 315 &=
12. The diameter of solute in colloidal solution is —
(@) 0.0l nm-0.1 nm (b) 1 nm - 1000 nm
(c) 1000 nm - 10000nm  (d) 0.001 nm — 0.001 nm
(@ 00lnm-0.1nm  (b) 1 nm — 1000 nm

(©) 1000 nm — 10000 nm (d) 0.001 nm - 0.001 nm
13. The molecular mass of X is. 106, X can be —

(a) CaCO, (b) SO, (c) Na,CO, (d) NaCl

X GG ARTARF ©F 106, X sl 2ot - -

(2) CaCO, (b)) SO, () Na,CO, (d) NaCl

14. Which of the following does not affect rate of evaporation?

o .. (a) Windspeed - ° - - (b) Surface area 4
(c) Temperature | (d) Insoluble heavy unpuntles
- NS I AFRTR 2T ASRE IR 2 |
(@) I|\RET - C(b) SR came
(c) et (d) Ry ey

+15. 40 g of solute when dissolve in 200 g of water at 27°C,
temperature to make a samrated solution, calculate the solubxhty

of solute at 27°C.
(a) 16.6 (®) 40 (c) 266  (d)49.6
[Page 4 0f 10)

27°C Tzeoi 200 g &= 40 g 7R Rfds 33w 93 7 w3 ae

T T, AR QIS Refw 371
(a) 16.6 (b) 40 (c) 26.6 (d) 49.6

. Which of the following can not be separated by sublimation?

(a) Iodine and Sodium Chloride

(b) lodine and Ammonium chicride

(c) Camphor and sodium chloride

(d) Napthalene and sand ‘
Fs7 @D Bedeiren eftram e T T 2
(a) waIfe e GifSay @FRlRe

(b) =R @ Wi FRRe

(c) F°fe e @RZe

(d) utoifer @ atfer

. Ice floats on water because — .
-(a)- It has higher density than water

(b) It has lower density than water due to more volume
(c) Itissolid

(d) It is low melting solid

T HA S I -

(a) A I & SO (I

- (by Wwwwmwwmwm@fﬁ

(c) T3 o
) T AT T

. Correct:condition for liquification of gases —
- (a)- Low temperature, low pressure
-(b) High temperature, low pressure
- (©) Low temperature, high pressure

(d) High temperature, high pressure
: [Page 50f10]



19.

20.

o B,

22,

S STAFAT HA5F =16 7o —
(a) f~wGzee, Fwpiel (b) T Get, sl
(c) T Tzel, Te5 Glef (d) T Taet, T Giot

Which of the following is a colloidal solutlon 7
(a) Starch solution
(b) Copper sulphate solution

~ () Chalk power in water

(d) Mixture of kerosene and water

Jex I ST EA ¢
(a) 6@ (b) TR ACIE &I
(c) T 2eFS 5= ATEIN (d) @R e T e

40 g of common salt is dissolved in 320 g of water. The mass
percentage of salt is —

(@ 11.1% () 125% () 15% (d) 10%
40 g AR 13 320 g T TAZS SR | FICH BF *0IRH FF -
@ 11.1% () 12.5%  (c) 15% (d) 10%

‘_For the dlagnostlc techmques of urine and blood the process ’
" i5 used = :

(a) Evaporation
(c) Distillation

(b) Separating funnel
(d) Centrifugation

catst FRpotreidt S APHITS [ 6 A% AR JITS T -
(a) I=oAme (b) PRz FIA
(c) o= (d) T &S
In fog —

(a) Dispersed phase liquids & Dispersion medium gas

- (b) Dispersed phase gas & dispersion medium liquids

(c) Dispersed phase gas & dispersion medium solid
(d) Dispersed phase solid & dispersion medium gas -
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23.

24.

25.

26.

FAMITS —

(a) e weit w1 @ g st st
(b) Rgs it s @ RS Mg o
(c) Rgewit 2yt @ R Tty 33
(d) WMH’@W‘GWWWW

A compound has 8% of sulphur. What will be the minimum
molecular weight of the compound ?

(a) 100 (b) 200 (c) 300 (d) 400
I AT 8% ST SITE | (oI T S T T -
(a 100 (b) 200 (c) 300 (d) 400

36 g of water is electrolysed. The welght of oxygen formed
will be - .

(©) 8‘g

(2) 32¢g (b) 16¢ (d4g
36g Tt oo Ruuart e B e TR - !
(a) 32¢g (b) 16¢g (c) 8g (d) 4g

The number of atoms present in one molecule of ammonium
phosphate —

(@) 20 (b) 18 (c) 16 (d) 12
SyITsHfaR TFCER G LS Ty oRoR et = -
(@) 20 (b) 18 () 16 (d) 12
The mass of 18 ml of water at 4°C is equal to -
(a) 18¢ (b) <18g (c) >18g (d) 4g
 4°C Twory 18 ml GFR SA T - ‘
(a) 18¢g (b) <18g (o) >18g  (d)4g
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25

29.

(a) Na*, O, Ne

Rutherford’s alpha (a) particles scattering experiment resulted
into discovery of —

(a) Electron (b) Proton

(c) Nucleus in the atom (d) Atomic mass
FAMRACPITE T (or) Tt gz »3rmt (e RFS == -

(a) TG (b) camw

(c) AR oeeRy Refmm  (d) AR SR

Which of the following are isoelectronics —
(b) Na*, Al, N*
(¢) Cr,Ar, Ca (d) Mg*,F,0
(a) Na*, O*, Ne

(c) Cr,Ar Ca

(b) Na*, Al, N>
(d) Mg*,F-, 0

An element has 3 valence electrons in its outermost 3rd shell, -

the name of element is —
- (b) Gallium -

(c) Aluminium (d) Sodium

- S N R w8 U 3% R wirr ! e = -

30.

(a) A=A ® s (c) wgfiffam  (d) cifeaw

Identify ‘X’ in the nuclear reaction.
12
4BE9 + a (Alpha) — 6C +X.
(a) Proton  (b) Electron (c) Neutron «) Positron .
‘X’ Fhres- :

@) b B TR () W (d) =T
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Group—B
Answer the following questions as directed :— 10x2=20
Ao et erefe Tea we -
31. (a) Write the chemical name and formula of baking soda.

32.

33.

34.

¢ 33,

(R G AT TN 8 FES 1)

(b) What will be temperature when 1 g ice at 0°C absorbs 80
calheat?
(0°C Bzwerz 1 g 39T 80 cal. Biol firet 7 Tzesl IO L)

Calculate the amount of water required to prepare 500 g of
2.5% solution of sugat. ,

(500g 2.5% FBfea 73+ 2rgfoTs R AR otew atem 2032)
Arrange the following in terms of increasing number of atoms.
(SR RYRA TEFTH SIS )

(a) 8¢ 0, (2gH, (c)14gN, (d)8gHe

A compound contains 4.07% hydrogen, 24.27% carbon and
71.65% chlorine. Its molecular mass is 98.96. What is its
empirical formula and molecular formula ?

(2B CTt 4.07% TRTTITSH, 24.27% I 9 71.65% G

- iR | R eR 98.96 7@, (I FERETS ¢ SRR TS

Tz )

“Boron has two isotopes 5B10 and 5B”. If the average atomic

-~ mass of the Boron be 10.8, calculate the percentage of the two

isotopes of the Boron.

| (TR B e B, lea AR ©a10.8

o, RIS B SRR et <R e )
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36.

37.

38.

. e

40.

The chemical properties of isotopes of an element are same —
Explain why ? ‘
(b CTITeTa SNRAG1fER TR 45f (IR ol =7 - A ARG T 1)

Calculate the number of aluminium ions present in 0.051 gof
aluminium oxide (Atomic mass of Al =27 u).

(0.051 g wyrEfRfanT SrSHRCe Seif¥ Spiffaar S st e
| (TERFRIE AR ©r =27 @33) ~

What is the effect of change of temperature‘bn the solubility
of a salt ?
(TR TTOH Tf Taeet ~AfFaETa 213 Rzhiod )

Explain why, napthalene balls kept in stored clothes in our
home disappear over a period of time.
(ﬁmwwmmmmﬁwmwwmmw
LN I - Pyt F71) Y

What is the number of water molecules contained in a drop of
water weighting 0.06 g ?

(0.06 maw#ﬁw%mmwwmﬁeﬁw)
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